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“nstruction : First 15 minutes are allotted for
the candidates to Ttead the
question paper.
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iv)
v)
vi)

Note: i)
1i)
iii)
iv)
v)
vi)
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There are in all eight questions in
this question paper.

All questions are compulsory.

In the beginning of each,
question, the number of parts to
be attempted has been clearly

mentioned.  upboardonline.com *

Marks allotted to the question§
are indicated against them. "»

Start from the first question and
proceed to the last one.

Do not waste your time over a
guestion you cannot solve.
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%) logx* T x % WY 3erhel OIS FIT
HiTY | 1

@) Y&EW x?+2xycoté-y? =0 % &
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Fal

M) g dkw al?+a2j+a3f€ Gl
bl§+b2}+b3f;: ¥ d= H W

e & @ fog ot

upboardonline.com

a,b, + a,b, + asb,

cos B =
(Ja? + a2 +a2 )(ybf + b} +b] )

g 1
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)

lim [x2 -5x+6

; %l HH FId
x—>2 x""--~6x+8}

Ehﬂfﬁﬂt{ | upboardonline.com 1

F) gd S5x°+5y°+4x-8y-16=0 &

the & eerer aer B g s

1. Attempt any four parts of the following :

aj Find the differential coefficient of

log x* with respect to x ]

upboardonline.com
b)  Find the angle between the pair of

lines x” + 2xycotd - .I}JI'} ~ (). 1
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If the angle between vectors

al?+a2}+a3i€ and bl§+b2}+baﬂ

be 0, then prove that upboardonline.com

a,b, +a,b, + asb,

cos 9 = ]
[Jaf +al+a’ ](\fbf +b2 +b?)
1
Find the value of
km x*-5x+6 1
X2 x2-6x+8)

upboardonline.com

Find coordinates of centre

and radius of  the circle

5x%+5y*+4x-8y-16=0. 1
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0, x=3

F x = 3 T IO H 9050 wfww) 2

g aF y*-7x-8y+14=0 F g
(2, 0) W St @ &1 gHieor 9

E&ﬁq | upboardonline.com 2

M [{(1-sin2x)/?|dx H WA IW

) 2
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Attempt any four parts of the following :

a)

Examine continuity of the function

1x=31 .3
fix)=< x-3°
0, x=3

at point x = 3. 2

upboardonline.com
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b)

d)

8

Find the equation of tangent
at point ( 2, 0O ) of curve

Yy -7x-8y+14=0. 2

Evaluate j[(l-sin2x)”2|dx. 2
upboardonline.com

Prove that the line joining points
(2 -3 ) and ( -5, 1 ) is
perpendicular to the line joining

points (4, 5)and (0, -2 ). 2

upboardonline.com

Find the equation of the circle
which makes intercepts of 3 and
4 on axes x and y respectively in
positive directions and passes

through origin. 2
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xz[l—y)ﬂii+y2(1+x]=o
dx
%) R yzgimg, a fag =it & upboardonline.com
dy 0. 9 Eﬁ%ﬁﬁ%ﬂll 2

3y + x—F =
Sy dx

3. Attempt any four parts of the following :
) j_ﬁmﬂ_mmmmﬁm 2

et el
a) If y =$, then prove that
X
m g SeLo1 W dw d
a b 39‘*‘-"7"_9‘:0- upboardonline.com 2
dx P )
E il upboardonline.com 2
b) Evaluate I——x—f—l——-dx. 2
) Yarsit x*+x?+1
F=(i-2j+3k)+A(i-j+3k) ¢) Find the area of ellipse
2 2
7 =(4i-F)rp(2i-j+2k) ¥ A= %+%=1. 9
a
T Fi I | 2
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d) Find the angle between the )
= 52 ar
straight lines represented by @ AW y=x7+ 24 1 ’
9 1
SR T tOA N Xt
r=(i-2j+3k)+A(i-j+3k) and upboardonline.com X"+
F=(41-7)+n(2i-j+2k). 2 - dy 2xy 3
fog =ifs Tt

upboardonline.com

e}  Solve the differential equation

M T WU WE s W W

(-l iaxn)=0. 2 y=2x—x* B W @ oW R
S 3 fedt A TS w oew #et €1 upboardonline.com 3
HIT upboardonline.com

q) 39 SAREed H G T B,
) £(1+x2 iz A AR '3 et Fraer x+2y =1, M9 ( 2,1)

M IFFA2E | 3
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Attempt any three parts of the

following : upboardonline.com
h x
a Evaluate : | ———=dx. 3
! ! (1+x?)'/2
2 1
b} If y=x"+ 7 , then
Dl IR —
x? +- 1
x? +
upboardonline.com
dy _ 2xy’
rove that —= = —%—, 3
P dx  1+y°

Find the angle on which the

tangent of the curve y=2x-x?

cuts the axis of x. 3
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5,

d)

14

Find the equation of hyperbola

whose directrix is x+2y =1, focus

( 2,1 ) and eccentricity is 2. 3
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T upboardonline.com
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xX+y<40

2x+y <70

xz20,y=0

Z=5x+2y W R

HIfAT | 3
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M) R B x == W wH x’log -
e X

r

3%6[&3 'B‘l upboardonline.com 3

q) I Waed y? = 4ax ® A Sfar &
w fR w1 FluiE (at?,2at) &, @
W R &1 Féwies W R 3

Attempt any three pdrts of the

following : upboardonline.com

a) Find the area included between
parabola y? = 4x and straight line

x=4, 3
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b)

16

Solve the following linear
programming problem by
graphical method wunder the

following constraints : upboardonline.com

x+y<40
2x+y <70
x20,y20

Find the maximum value of

Z=5x+2y. 3

upboardonline.com

Show that the function x? lumvgl is
X

\ 1
maximum at x = —\F ; 3
e
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d) If the coordinates of one end of a
focal chord of a parabola yg = 4ax
is (atf,Qatl) then find the

coordinates of the other end. 3
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@) fug st

xtanx n‘ p
dx : 4

;, SEC X +COS X 4
r
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6.

Attempt any one part of the following :

a) If x(1+y)/?+y(l+x)/?=0, then

dy -2
that =—(1+x)".
prove that —* ( )

i

b) Prove that upboardonline.com

2

dx =—.
Secx +Ccosx 4

]‘- xtanx i

0

4
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F) 9% 4x2+9y% =144 H Jhwal adl

v T S

@) a% x?=4y T8 G WM x =4y -

F 3T &R AT HIU |

4

2

4
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Attempt any one part of the following :

Find eccentricity and foci of the

curve 4x2 + Qy'z =144 . 4

Find the area included between
the curves x? =4y and straight

line x =4y -2. 4
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(1+x*)dy + 2xydx = cot xdx

I g1 PivITl 4

8. Attempt any one part of the following :

a)

Find the equation of the
plane passing through origin

and line of intersection of
planes ?.(2?+ 5}'4— 3?::) =0 and

roi-j+ak)=2. 4

bﬁ Solve the differential equation

} (1+x%)dy + 2xydx=getxde; 4
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